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Order of Operations

Perform the operations in the correct order.

Ix3+6+3+10—4 6. (23—(%—“%))2

A#-3x2xi 14 (5= (E+1-4) -1
(Ex3-(G+9)" . 3+3x (2-1+11+4)
(3+84+142x2) 0. 1+2—(1—4x1)=1

1+ (3 x(1x(2-L2)+4)) 1. (6-2)+ (11+5-3)+1
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Order of Operations Answers

Perform the operations in the correct order.

Ix346+3410-4 6. (23_(%_“%))2

=15 = 64

BRPREERE R 13- (5 (314
~ 6

11,5 (9, 10\\!°

(5 x5-G+3)) 832 3% (2-Ly1141)

=1 =36

B+84+142x2) 0. 1+2—(1—4x1)=1

-3 =

.1+1(§><(1><(15—2—%2)+4)) 10. (6:72)+(11+5—%)+1

=56 =29
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